o V7
n g PJ four decimals, order of operations with brackets

Name: Date: Score:
3.6+ 6.4(4.7—6.8) = (24-39)x59-3=
30(4.1 - 3)+5= 6(5.9+6)+3 =
4(58+33)+2 = 2.1-62(43—4.4)=
6.9-22(25-6.1)= (2.1+23)x33-38=
16(5.5+3.4)~4 = (12+3+22)x 53 =
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o V7
n g PJ four decimals, order of operations with brackets

Name: Date: Score:
3.6+ 6.4(4.7— 6.8) = —9.84 (24-39)x59—3=-1185
30(4.1-3)+5=6.6 6(5.9+6)+3 =238
458+ 33)+2=182 2.1 62(43—-44)=2.72
6.9-22(25-6.1)=14.82 (2.1+23)x33-3.8=10.72
16(5.5+ 3.4)+4 =35.6 (12+3+2.2)x 53 =32.86
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